i
=5
@
- i - (b
Ol T | M & 8|8 a|l § | ¥
& & H W HiRE H IE BF= fal EvF- i Rr& papul " HEEE HAWE
D (mm) W (mm) H(mm) T L N (mm) M (mm) E (mm) R (mm) [daN (kef) ]
ST-65RHES,M12X 35 M12 1.75 35 21
ST-65RHES,M16 X 40 M16 2 40 23
65 89 27 50(51.0)
ST-65RHES,UNF1/2%X25 UNF1/2 20 25 21
ST-65RHES,W3/4 x40 W3/4 10 40 23
68
ST-75RHES,M12X 35 M12 1.75 35 21
ST-75RHES,M16 X 40 M16 2 40 23
75 25 97 28 60(61.2)
ST-75RHES,UNF1/2X 25 UNF1/2 20 25 21
ST-75RHES,W3/4 X 40 W3/4 10 40 23
ST-100RHES,M12X 35 M12 1.75 35 21
ST-100RHES,M16 X 40 M16 2 40 23
100 126 31 82 50(51.0)
ST-100RHES,UNF1/2X 25 UNF1/2 20 25 21
RANEBEITL
ST-100RHES,W3/4X 40 | # ##EIL W3/4 10 40 23
ST-75NRS,M12x 35 M12 1.75 35 21
ST-75NRS,M16 x40 M16 2 40 23
75 97 28 68
ST-75NRS,UNF1/2%25 UNF1/2 20 25 21
-
ST-75NRS,W3/4 X 40 W3/4 10 40 23
27 60(61.2)
ST-100NRS,M12x 35 M12 1.75 35 21
ST-100NRS,M16 X 40 M16 2 40 23
100 126 31 82
ST-100NRS,UNF1/2x 25 UNF1/2 20 25 21
o 912 e =
ST-100NRS,W3/4 %40 LR =VA Wwa3/4 10 40 23
BfEE
ATVLRA
- R o N N
— — J:|IJ FTWARTUYT
== ®50 65 75 vv7nzRwIi-
Qe[| BT A& (RUAAHR) -ELFERB

SUS-ST-75NS,
M16x40

[ELuieedl Z 01t

HERBRROEREA—TTT,

- r -
ST | | & & & A | T Y
& & B W HiRE o BftE fal EvF- i RrE I "o HEEFE FFAfE
D (mm) W (mm) H(mm) T L N (mm) M (mm) E (mm) R(mm) [daN (kgf)]
SUS-ST-75NRS,M12x 35 e M12 1.75 35 21
SUS-ST-75NRS,M16 X 40 75 27 97 M16 2 28 68 60(61.2)
40 23
SUS-ST-75NRS,W3/4 X 40 W3/4 10
RALFAOr
s oL

. g I—IAZ/F(19mm21mm)
gm IR 21X23R/%F

SHFENTUNIN

037



2dA3-5

038

G| T | M | & | & & O Y | 9
& & ] HinE o BftE fal EvF- R popy) "o HEEFE FFAfE
D (mm) W (mm) H(mm) T L N (mm) M (mm) E (mm) R (mm) [daN (kef) ]
SUS-ST-50ELS,M12X 35 M12 1.75 35 21
SUS-ST-50ELS,M16 X 40 50 74 M16 2 35(35.7)
40 23
SUS-ST-50ELS,W3/4 x40 Wwa3a/4 10
27 67
SUS-ST-65ELS,M12X 35 M12 1.75 35 21
SUS-ST-65ELS,M16 X 40 65 27 89 M16 2 40(40.8)
40 23
SUS-ST-65ELS,W3/4 x40 Wwa3/4 10
SUS-ST-75ELS,M12X 35 M12 1.75 35 21
SUS-ST-75ELS,M16 X 40 75 97 M16 2 28 68 50(51.0)
KAIVPP 40 23
SUS-ST-75ELS,W3/4X40 | &= #&I5xkv— Wwa3/4 10
SUS-ST-50RHS,M12X 35 M12 1.75 35 21
SUS-ST-50RHS,M16 X 40 50 28 74 M16 2
40 23
SUS-ST-50RHS,W3/4 X 40 wa3/4 10
27 67 50(51.0)
SUS-ST-65RHS,M12X 35 M12 1.75 35 21
SUS-ST-65RHS,M16 X 40 65 89 M16 2
40 23
SUS-ST-65RHS,W3/4 X 40 Wwa3a/4 10
25
SUS-ST-75RHS,M12% 35 M12 1.75 35 21
SUS-ST-75RHS,M16 X 40 75 97 M16 2 28 68 60(61.2)
R L 40 23
SUS-ST-75RHS,W3/4X 40 | = =L Wwa3/4 10
SUS-ST-50NS,M12x 35 M12 1.75 35 21
SUS-ST-50NS,M16 X 40 50 28 74 M16 2 60(61.2)
40 23
SUS-ST-50NS,W3/4 x40 wa/4 10
27 67
SUS-ST-65NS,M12X 35 M12 1.75 35 21
SUS-ST-65NS,M16 X 40 65 89 M16 2 70(71.4)
40 23
SUS-ST-65NS,W3/4 x40 Wwa3/4 10
25
SUS-ST-75NS,M12x 35 M12 1.75 35 21
SUS-ST-75NS,M16 X 40 75 97 M16 2 28 68 80(81.6)
HAiFAO 40 23
SUS-ST-75NS,W3/4X40 | = &Fro> wa3a/4 10
SUS-ST-50URS,M12 % 35 M12 1.75 35 21
SUS-ST-50URS,M16 X 40 50 74 M16 2
40 23
SUS-ST-50URS,W3/4 X 40 Wwa3/4 10
25 27 67 60(61.2)
SUS-ST-65URS,M12% 35 M12 1.75 35 21
SUS-ST-65URS,M16 X 40 65 89 M16 2
40 23
SUS-ST-65URS,W3/4 X 40 wa3a/4 10
SUS-ST-75URS,M12% 35 M12 1.75 35 21
SUS-ST-75URS,M16 X 40 75 26 97 M16 2 28 68 70(71.4)
AL 40 23
SUS-ST-75URS,W3/4X40 | = #Ls> Wa3/4 10






